T3 FEERMEEREWMEER (F3E11HER)

1 [ERNESF % M HENFE D AR A BRIE R <
G X 4y | Sf3HE11A | Sf24E11H | xtaidElk i &
FIFHEE 67,070 62, 607 107. 1%
3P FH AR
FIIH = 63. 1% 66. 6% A 3.5
FIFHEE 2,128 3,316 64. 2%
HRER AR
FIIH = 27. 5% 33. 1% A\ 5.6
FIHEE — 348 LB
F o i —f E'ﬂ
i 0. 0% 69. 0% =21
FIRES 69, 198 65, 923 105. 0%|F v — & —FE &R <
E N R E 5
FIF R 60. 7% 63.4% A 2.7
2 [ERREEARFIHE IEANTR DOFEHEBRILSR L
G X 4y | Sf3HE11A | Sf24E11H | staidElL i &
FIHE %% — — —
Vard% !
FLFA 5 — — —
i FIAE %% — — —
Bt
LA 5 — — —
FIHE %% — — —
=E|
FLFA 5 — — —
FIAE %% — — —
Fy¥—F—{#
FIF — — —
AR E$ — — —
E PR A
FIF R — — —
3 FIHEAR MARNFR OB, FERITERL
G X 4y | SFM34E1LA | S 24E11H | RIRMEEE | i &
aan FIRES 69, 198 65, 923 105. 0%|F ¥ —# —E &R <
e FIF = 60. 7% 63.4% A 2.7




